
LCS(Longest common subsequence).

Problem Statement

Given two strings S1 and S2.
The Longest Common Subsequence (LCS) problem is to find the 
length of the longest string which is subsequence of both strings 

S1 and S2.

Input: S1=BCDAACD
           S2=ACDBAC

 Output: Length of LCS = 4
 The longest common subsequence is CDAC



• Given S1=BCDAACD and S2=ACDBAC be two     
sequences.

• Then, common Subsequences are
  BC,CDAC,DAC,AAC,AC,CD, …….
 
• Among these subsequences CDAC is the longest      
common subsequence with Length=4.

• Let us try to find this longest common subsequence
 using dynamic programming.



Recursive Code of LCS



Iterative Code of LCS



How LCS can be printed?



cont…..

• Time complexity of both solution?

• LCS with better space complexity.Think in 
terms of linear space.


